3

DELHI METRO RAIL CORPORATION LTD.
(Metro Bhawan, Fire Brigade Lane, Barakhamba Road, Delhi-110001)

[Roll No.
Participant Name
Test Center Name Q}b‘
Test Date 21/02/2020 A
Test Time 9:00 AM - 10:30 AM (‘bb‘
Subject [Maintainer Fitter RNE18 ’\)

Q1 frgr srEer & vs AT @ 22 £ 0.01 mm AT T ¥ FEIST (tolerance) AT ﬁﬁm(\{;}
Ans  X'1.-0.01 mm

S
O
< 2 -0.02 mm @
¥ 3 0.02 mm o

< 4 22.00 mm (\Qg"

Q\ Question ID : 843923863

(& Status : Answered
0 Chosen Option : 3

s mmmmm@m%‘?

Ans X 1.
mmmﬁ@ﬁimﬁﬁvmmﬁ
V2
mma@wﬂ:m#ﬁwﬁaﬁm%
X m@%ﬁamﬁmaﬁv%mm%

X 4
aT Fir e AT I S & AOA & o G s §

Question ID : 843923886
Status : Answered
Chosen Option : 2




Q3 & e & 95g # @aE @ R (chip) ge F e G s d
s X1 & (file)

X 2 #dz 99y

<3 gafter

v B

Question ID : 843923912
Status : Answered &
Chosen Option: 1
B
¥ g% FT T Aar ¥ 6’83
Ans X 1. HIHATET A 4:\

v? ®
ﬁm,mmmwm%miﬁvﬁmm%(}'

X 3 ¢
g 7, TSue 9O UST W AN 95 Fea & fov G 0%
X 4 B T 94T e =fET a2 Q

(@)

.\) Question ID : 843923909

Q Status : Answered
. \Q

Chosen Option : 2

e of 1 gfeRYY &\0
X 2 MIG 00
X3 g g}(\(\
< 4 uffe \Q’

(} Question ID : 843923862
QQ’ Status : Answered

Chosen Option : 1




Q.6 I milie &, T I W YANT H HRET W @ O 99 & (backward stroke) FTed wE & Torw
T = 87

Ans X1 d2remE (Pentograph)
X 2 ¥ 3t RAfaTa (Rack and pinion)
X 3. HTHTT TABET e
v+ Bas Rea (Quick return)

Question ID : 843923919

Status : Answered «Q)&

Chosen Option : 4 g

¥

V rrmaw F RC e AR YA @ R A FeE g ¥ A
A 1 (D/300) + 2 mm ¥ (D/200) + 3 mm A
X 2 (D/200) + 8 mm 0'
X< 3. (D/200) + 6 mm (SQQ
<4 (D/200) + 2 mm
(D/200) @\S\ ..
¥ e tous : Anworsd
. \QQ' Chosen Option : 1
Q8 oy ¥ Rraffr ¥ ex faemfie (ovedapped)ér‘% - ]
A o1 FEE (journal) %()0
X 2 gt (ball) 6\\0

X 3. &rEg 3T (outer n@?
X 4 3 = (ber race)

N
*\(b Question ID : 843923893
Q’(} Status : Answered

(bQ Chosen Option : 1

&




Y P & @ FlF @ 3RS A w2
Ane X1 afEzee (Undercut)
X 2. @A (Porosity)
v 3 e (Chill)

X 4 @ $ FAT (Lack of fusion)

Question ID : 843923897 &
Status : Answered

Chosen Option : 3

}«‘0
A
Q

Q'mgﬁ(pulleys)&ﬁ?ﬂﬁﬁw,?{ﬂﬁmmqaﬁméﬁ A
A

e X &= T (Tail stock)
X 2. TATSE F (Slide rule) (\Q,
v s gg T+ (Head stock) @6{}
X 4 97 (Base)
&£
Q':) e Anowered
«\Q Chosen Option : 3
M omT T AT aﬁrmﬁ{)@rmmﬁl
Ans X1 Rt ‘(\Q’
v: N
- THRT \
O
&< 3. FrecHeT (\O
X 4 FreaeT (}Q
&\Qy
* (b Question ID : 843923864

0(3\ Status : Answered

Chosen Option : 2




U2 sy e @ g et B ST B

Ans «1,
FAATHR I AR T= (bar and rods) F Fg F IaT o9 & BT
X 2
917 AT TS (bar and rods) Fr TATHRAT F F=9 F4 F T
X 3
TART TEGHT F e A F o 3, o R @, Fova T R
X 4 gagl fr gEgear &1 Jw w1 F e ™
bz:‘b
Question ID : 843923
Status : Ans' %
Chosen Option : }‘Q
\
Q13 3 oore, s T Brredla TX=ar a8 @ &, 3% +97 Far ST &2 ,(2)
Ans X, FEET (polymorphic) {\0

x 2 Eg’ﬁ?&?ﬁ'!r (polycrystalline) ®(§>
v 2 3feFEeEe@ (amorphous)

X 4 uher ThEeelm (single crystal) Q()o
&

Q\ Question ID : 843923865
é) Status : Answered
0 Chosen Option : 1

¢’

1% Zrer @ Fezer (Mandrel) é\(\ e E

ans oy = AfeE T ® ool holding attachment)
<2 59 (jig) Q,é\
Vs fﬁmfr»@'ure}
&

x4 Hsg&mmm (auxiliary attachment)

L
‘$ Question ID : 843923896

§ Status : Answered
Chosen Option : 1




® TRl ¥ (rough file) &1 ST & T §2
MK afteEer & Wy ag @ gee F R

< 2. 3=t gag Ay & oo
X 3
10 230 ¥ F7 Iror 3cTead GHL TET F T (filing)

v o g AT ¥ e % o

& oo

Question ID : 843923910
Status : Answered
Chosen Option : 4

4?3

,{(“"

&

\3\5‘?’

Question ID : 843923852
Status : Answered

Q.16 gfeparer Forar wleor HRC RfY &, s & __ & Tieis & @y deies 3 smar &
Ans X 1.210 N
v 2 9807 N
/3 196.14 N
<4 981N
o
o

Chosen Option : 2

\

Q17 v 3ee @ waIfaSE F0T (included angle) FTW%’
wre X900 3y 120°
< 2 60° 3T 120° ‘\(\

F &= g gl

Question ID : 843923894
Status : Answered
Chosen Option : 4




T frer (fixture) & wAET _ far Sar ¥
Ans x 1. o F ThEa & T (hold the tool)

V2
F T8 # IFsA AR 3 T Bufy F &= & AT (hold and locate the work piece)

X 3. Zof I HENT &1 & foIT (support the tool)

5 4

<ol FI el oo 9e i & T (guide the tool) .
L\

N
Question ID : 84392391 /X ]

Status : Answaws%

Chosen Option: 2

AN
Q.19 faafior el (axial) 3t =T (radial) aie! YR & 9 g HT bl &l ({;}s A
Ans X 1. m 4
; . & {\0
v 2 TIER FTeFe T (Angular contact ball) O
O
X o goig (Thrust) N\
<« Yfezer FTer (Radial ball) {)0@
. QQ Question ID : 843923891
()Q Status : Answered
Chosen Option: 2
&

a0 | o R AR

Ans X1 g T (Grease d@cation)
v 2 s BT =ER (&k feed lubricator)
X 3 T e Q@Qy lubrication)
X 4 goder Qz)@% (Splash Iubrication)

(§§2 Question ID : 843923904
&0 Status : Answered
§ Chosen Option : 3




W gy () F TEu F e § ¥ #iF @ sl a6 8
SRV ARE, - R T e s

X 2 g F= fr Tag ¥ 74 RAaewar g

K 3 9 (ATHL) 1 HWA] FAF 80

X 4
sHeT 3RS OeeT e % 3AfEE Owed # 13.6 7 g &

Question ID : 843923851 Q}y
Status : Answeredb/‘&

Chosen Option: 1

a2 T o & ST B Q;Cs{)

A o Qe ’
X 2 T e ®
X 5 o mohe \@Q
K+ o mefE &

7%

Question ID : 843923877
¢ Q Status : Answered
Q\ Chosen Option : 1

>

028 éﬁwqﬁmﬁﬁrmﬂws@?mmﬁmmﬁl
s X1 CO, iR &\(\

V2 TIG <>

X3 MIG

X 4 ofreRs :ﬁ%ﬁ&

Question ID : 843923859

QQ’ Status : Answered
)

Chosen Option : 1
é‘@ |




Q.24 ¥ THAUT FT JURT WTATAS: Fad &4 (cutting fluid) & &7 F T ST §

e X ITee uEst Ak T
v 2 e A i I
X 3. gaiforgw e 3t I
X 4 | AT Fer

Question ID : 843923905
Status : Answered
Chosen Option : 2

A('ob‘

Q.25 618 3T 619 W= & 97 @ =ar e & wO7T o0 w9 &
ST B

e XK Bt it s e @t
v B 8
X3 e 9
X 4 HIFIUT ¥R (shear load)

@A (carry) & T T

&
,{i}
@
O
Q
Qé‘?’

-

{(\ Question D : 843923892

Status : Not Answered
Chosen Option : --

.(}

Q26 mréaTsT (Martensite) T &T0T 59 & ﬁn‘éﬁgﬂ'{ B ST &2
v X1 AneTsteeT gfdRar (non‘nahe@ process)
X 2. AT qfshar (an@ng process)

X s grafEr gfgar {1ereﬁ<r\|ng process)

4 TR 9far ( cgéhchlng process)

N
@

Q*
S

Question ID : 843923855
Status : Answered
Chosen Option : 4

Q.27 g e ‘(mating parts) & &= 7 1 FHILT (gap I clearance) FHT
[T
A 4
e - ferx A1 (filler gauge)

# 2 #r 7 AF (ho go gauge)
X 3 =T AF (snap gauge)
# 4 3 T (go gauge)

AT AT AT

Question ID : 843923887
Status : Answered
Chosen Option : 1




Q2 gmr & afeEe A, e qawfas w@fET & w0 @ #
e XK TIG afeEe

v 2 offe afege

< 3 coTSAT 3 afese

X4 MIG afeseT

Question ID : 843923861
Status : Answered

Chosen Option : 3 § &

Q29 frm & o e mhe = &, @ AR wE g & e TR (translation motion) @dr 87 «Q}&‘
Ans X1 RFSRT (Drilling) ,{i}
X 2 fAfET (Milling) N

V'3 9T (Shaper) (\Q'
X 4 o (Lathe) \\\Q
®§" Question ID : 843923920
”0 Status : Not Answered
\J Chosen Option : --
30 A * 9
W30 g Fa wEw, e AT MR
X °
X2 O F T . (\Q}
N
X 3 ATER S
v ' g ToTd ofies \(\(\0
\Q’C’ Question ID : 843923883
S \(&\ ) gtatus : 4Answered
Q} Chosen Option :




Q.31

Ans

I F9T F FeaaAE = T g aienig T aar 27
Ko
iRt & FeT IREas R FEE F Amet oiEes F g & w9 A
X 2

TR TR FF o e R g R s ok Reem s dm F IR S T A

™ &)
39 7GR g % ¥ H, O s SO garr @ @ & AT ST @ §

X 4

g TeaT, [SHe FROT e 1 ARIsdT 30 THT e A §, A9 9% ety & e g #

A

Status : Ans'
Chosen Option : 2

Question ID : 84392 @\

Q32 e (coolant) & T # Ygad dd AT JoT & 9@ @ g ,é
Ans X125 : 1 {\0
v21:20
X215 1 {&0
< 41:50

Question ID : 843923906
Status : Answered
Chosen Option : 2

Q.33

Ans

s Tt & aref ae%wmae;m%l
- 9

X %ﬁﬁmu—uﬁw@ﬁ?—ﬁﬂ

<2 ﬁﬁiﬁ’ﬁ?ﬁﬂ%’lﬂ

X3 Hﬁﬂ":—mﬂﬁ&m_ﬁﬁﬂ

v m@&
QQ’)

(b Question ID : 843923908

K Status : Answered
‘$ Chosen Option : 4

S5




Q.34 . g F TIH H A T HET TS AT B
e X weEfaTs

X 2. ZoraT HEr
v ofegs
X4 e '
Question ID : 843923849
Status : Answered %&
Chosen Option: 3 /k
Q.35 F=i AN (Keyways) 3R Foams= (splines) #r wfemr & T, T FIT R ST B é

4\

Ans v . g IS (square file) Q/)k

X 2 ATEF TS I (knife edge file)

O
X o Fagemer W (triangular file) *(}Q
X 4 FeeRR 3T (round file) @0
A\
0\‘ Question ID : 843923903
:‘) Status : Answered

~

Q Chosen Option : 3
(\Q

QO
a3 TS FT FIRIH HIaS E"é‘bo

K TEEATES (austenite) ‘(\@Q
AN
v 2 drderEse (Cementi@Q
X o dmré (bainnéq?(\

X 1+ woitse (5&@

Q;QQ’ Question ID : 843923856

K Status : Answered
y Chosen Option : 2




Q.37

Ans

Uit 3 afese F, e e & o i 7l

v e
< 2. e
X 3 A

<4 HhE

Question ID : 843923860

Q.38 affay F=r€ wAT (Vemnier height gauge) &, Y9 f¥st== (scale division) 9 3ifaa gar #

X . BB TssEeHe IfAe (fine adjustment unit)

Ans

X2 8
X 3 gfFaT e
VR it

Status : Answered

G
&

Y4

e

\ 4

‘&0 Question ID : 843923868
Status : Answered

% e T W F T g sage

Ans

arEafas AT - ARG AT =

&1 T

Chosen Option : 4
N
&>
W wo= el
.
R4

Question ID : 843923870
Status : Not Answered
Chosen Option : --




Q.40

EHel & g forar T 2

s X1 o I RAftAT = ¥ R
X 2 98 S & fT
X 3. FAEET @e &g 53 F o
v geat @ Rfgad w= & e
Question ID : 843923900 &
Chosen g:;::: 2"5‘”9";/(&% ]
Q4 o 3t 3 R T T ST ST a & v wd R S ASE}
A 1 gerar o ‘2/;}‘
X2 X 0/
X 3 oTeREr ‘(}Q
X 4 cotEes @0
05 Question ID : 843923888 ]
:) Status : Answered
. OQ' Chosen Option : 1
42 gomaray W@ dEe ¥ e e d @ e ﬁ‘rm%mm%‘?
Ans

v . iR wag gAY (Un&@al surface gauge)
X 2 f&ar==T (Divider) {;\\(\
< 3. ATEHIART ﬁ?ﬂ%ﬁ@icmmeter screw gauge)

N
. (b Question ID : 843923866
(}\ Status : Answered
QQ’ Chosen Option : 1




Q43 3w & TE W O W & e F A agT I0F @ § FoT T AT T 7 A 8,
FE e T YERET HTH SIS A B

At X 1. I3 (coupler)
X 2 weiar s (flange joint)
X 3 Hiere AT BIeMe ST (socket and spigot joint)
v« FfATA S (union Joint)

Question ID : 843923875 &
Status : Not Answert&Q)

Chosen Option : -- g
0 am ROt 2ERT Scaes wd A E ASS}
Ans «1_ i:cu /X
X2 afed wew
XK o OTAT FfEe % et e

# 4 afza (Lightning)

RS

A
@0
<

Question ID : 843923858
Status : Not Answered

’\Q Chosen Option : --
2

QS P A o BRI H AT FER = 30 §, 3R ?@ (tolerance) = 0.06 mm &7

Ans X130 £ 0.06 mm ) Qg"
V2 30 £ 0.03 mm &\(\
X230 + 0.015 mm_°
X4 30

0.15 m

+ + 1+ I+

&\Q; Question ID : 843923917
. (b Status : Answered

N
Q’O Chosen Option : 2

R
Q.46

ACE=" (twist dirill) T &= 2T g
Ans SS

X 2 TogfAtATH @er arg

X 3 Hg TEAS (MS)

X o O s arg

Question ID : 843923907
Status : Answered
Chosen Option: 1




W fmm & ¥ 7 @ R-9NRE ATET (non-precision instrument) #?
e X1 afdax ST (Vernier calliper)

v 2. IEUE 9ATEr (Depth gauge)

X 3. TIUT AT (Slip gauge)

X 4 ATSFIAET S=ATST (Micrometer screw gauge)

Question ID : 843923871

Status : Answered «Q)§

Chosen Option : 3
Q.48 mﬁsﬁhrwaﬁmmﬁaﬁgva@%rwmmmg#ﬁsﬁﬁm%m# QC

@ S g /X
s X1 wrEfeET (filing) q’}

v 2 T (snagging) {\{'}
X 3 Rrsfaer (chiselling) <‘§>
X 4 &9 (hobbing) 6\\&

Question ID : 843923914
Status : Answered

’\Q Chosen Option : 2

BN

Q49 Which of the following statements is true @%at treatment processes?

Ans X 1.

Pearlite is obtained as the final %ﬁ@ in the martempering process.
X 2

Tempering is done to incy the brittleness of iron based alloys.
v O

The martempering p1§g is designed to overcome limitations of quenching.
X a o

Oil is used uenching medium in the Jominy end quench test.

L
Question ID : 843923853
Status : Answered
Chosen Option : 4




050 FzaT 3w % T Rgge aEfis & ygFa MCB &1 of &9 #r 2
A" o1 Miniature Circuit Breaker (=R afee 3)

X 2. Mean Circuit Bonder (Hie7 Tfe dies9)

# 3. Minimum Current Breaker (&S Cr e FHT)

X 4 Maximum Current Booster (HfFwa® +iT TH)

Question ID : 843923898

Status : Answered «Q)&

Chosen Option : 1 &

! greger 1 @ iR & T R F S g é‘e
/(\
s of 1 3.14

<2824 ‘

X3 9.86 {\0

<410 \&60

-

{(\ Question ID : 843923878

Status : Answered

;) Chosen Option : 1
— M
Q.52 g urast, Cu AR Al ey erget # afdse & a’i@e)wmmmh
At X1 aEErEfEe (nitriding) {)0’3’
X 2. FeYTSTeT (carburisin\@z’
X 3. TR [oxidis@Q
N E-Ta i (neutr%‘\(\
° (§'Q’ Question ID : 843923857
N Status : Answered
Q)(} Chosen Option : 4

Q53 AT @ TUF YR Tdg =9 AT IF (contact type surface finish measurement
instrum ?
Ans - =
| FieHIhel ATSHITHT

v 2 FgHEE TEEew WiheraeT
X 3. PIIH THAT TIURIHAT
X 4 THHT ST ATTHITHM

Question ID : 843923913
Status : Answered
Chosen Option : 2




Q54 37 queT S0F SOATEN OF 1 S AT BT ST g ¥
A X1 dF9 WA (bevel gauge)

X 2 gfaar FR9T (Vernier calliper)

v o Tag WATST (surface gauge)

X 4 HATSSHIHCT AT (micrometer screw gauge)

Question ID : 843923867

Status : Answered
Chosen Option : 1 /&Q}

Q.55 zfaif¥ds TEaar yomeN(bilateral tolerance system) ¥, WETAT (tolerance) Fr o i 4:{:
afenfée fmr =T g B /XQ
Ans X 1. 4‘

g 3T AT FER, es 99 aaew aeRr BRa g € ,%
X 2 (\o
HOwaa d# 3R 77 3R F FFT 3T (dimensional diﬁer@}

v 3 IR N HFHEST e {(\
X 4 TR WA AR HT R & ASEIOGRT 3R

’\Q Question ID : 843923918
<)

Status : Answered
{& Chosen Option : 1

E;Q
Q56 Roughness is «\\(\
Ans X 1. N
the root mean square deviation of the l& from the mean line over the length of assessment

/< 2. succession of hi

v 3 \Q’

minute succession (&Jleys and hills of different height and varied spacing

< 4 succa@?@%‘ of valleys
2

@ Question ID : 843923911

Status : Answered
Chosen Option: 3




Q.57

AT # @ FiF @1 BT (forged) 7@ Far a1 Tehar &2

M X sEa T g
V' 2 ZeET S
X = o s arg
X 4 FET TEIT
Question ID : 843923881
Status : Answered &
Chosen Option: 2 Ab/‘k
% 9= @ T (Lead of the thread) =T @am ¥72 4:0:
Ans « 1. (2/)\
oTFE EENT U Taad H Y@ fgem & 7 # 71¥ gff (linear advancement in one revolution) ¢
X 2 & AR 95 & 9= Hr g \0(\0
< 3 gz ioT &
X 4 ® (root) AT FHTE (crest) F &= Fr @'((\
‘ Question ID : 843923895
Q’\QQ Status : Answered
0 Chosen Option : 1
% yfFemas (fire extinguisher) W F_ afrgar gl
Ans F a'rﬂ' \(\

Question ID : 843923884
Status : Answered
Chosen Option : 2




 sEm T9T (External taper) @

EART HT ST WHAT B

Ane X1 = RET 91 (thread ring gauge)
v 2 gar =T AF (taper ring gauge)

X 3. T A (plug gauge)

X 4 TATS g 31 (small hole gauge)

Question ID : 843923885
Status : Answered
Chosen Option : 2

S

¥ o & @ B uig F TR A E o w2 «(g\
Ans x 7 ﬂ'i'cﬁ' «
. /%

V' 2 ZoraT oreEr {\{:}

X 3 Frhfras O

X+ G WP

Q
Qs)o\ Rrp—
,\Q Chosen Option: 2

062 zorEE B F Ry, TS H A

& BT =1 2

A X1 afEoR FEE WA ( Vergé‘height gauge)
X 2 gt gag mﬁ’r&%wersal surface gauge)
X 3. ATEFHHART a?mrﬁ\%lcmmeter screw gauge)

v o gfEaT TJETI@T‘-’IT (Vernier depth gauge)

>
N
Q}("

&

Question ID : 843923869
Status : Answered
Chosen Option : 4

° ﬁ@‘gvﬁﬁmwﬁaﬁrmamaﬁmgﬁ%?

Ans <1 ST
X 2 Ford
(3.(—_“31-
< Az

Question ID : 843923847
Status : Answered
Chosen Option : 3




Q.64 & e 3 B @ Be ww & T G o §) St o g9 W A gt W R g

e XK. stFw e

v o S2FEeT Ba e

X3 Trger &

X4 Feger BT

Question ID : 843923915
chosenoption 2 R

Q65 rsfeiT w4 % eI, F aEg T ASH (vice) H R TIlid #XaT g «Q}b“
Ans 1 tear sEe (elbow level) 4‘45)

X 2. g% o el (head level) >

X 3. &r o= (knee level) (\(}‘

X 4 9lesx o9 (shoulder level) <§>

& Question ID : 843923902
0 Status : Answered

:} Chosen Option: 1

<O

¥ wie deT F T FE |

K PEeR {)0‘2’
X 2. Jedehit “\\(\%
< 3 FHEETHHR (trap@dal]
v ¢ AR g}(\(\
. é\'e’ Question ID : 843923890
& o e
R
+ ﬁ -FreraE=T oarg gl
Ans ) m
X 2 grEr
K3 e

V4 9RT (A7)

Question ID : 843923850
Status : Answered
Chosen Option : 4




Q.68

e & @ Fla & aig FAY F 99 W FF I3FEA A I §7

Ms o ey
v 2 9T (FTER)
< 3 g
X & =id
Question ID : 843923848
s 2 NS
¥ 3 & (Lead), R (pitch) & SN & S AT & /,:é‘
- O
X 2 ferer ' 93 {'},
Vo g W 9 ~<><\
X 4 FETE WIE 9T @0
”01\(‘\ Question ID : 843923873
& hosencption 3
QQ
0 oy ft g A o dsw AT QM ww |
Ans

v gﬁmmmmw

X2 nﬁrmﬁmaﬂ
< 3. =ET gFs qu{\§ Tohdl
X 4 3T aﬂ'm%

(}\ Question ID : 843923882
QQ’ Status : Answered
)

Chosen Option: 1




Q.71

B &5 O FiT oo &7

Ans x 1.
A ot s I A FF gl & [w, Fi a5 gea # o & @91, A9 o€ gEa H gen A
FH g 8
<2
FH §e€ 3A A, =ew e (driver pulley) 3 w1fde 9@ (driven pulley) A TR F gae
X 3
TIT d5T T3S #, FOT H WE W Ao F g i Iowa B oE doT F GNF F IS FAN TF
& e g B
v .
F 35C §T H, TerF T (driver pulley) AT mfEa o (driven pulley) Rl framat # g B «Q}
Question ID : 8439@}%
Status : A d
Chosen Optio% "@
A2
-72 - -
2 oferwr af¥Eer F e FEr s o
A ) .
" o1 g 3feEe (Pressure welding) \QQ
+ Ak . O
# 2 g8 e (Projection welding) @
X 3. ge afeser (Butt welding) ()0
X + e afeseT (Spot welding) O
.\Q
C"Q Question ID : 843923899
O{é Status : Answered
$) Chosen Option : 4
Q.73 e & aeeiEar (duduluw)mm&vﬁm#@aﬂﬂmqﬁmﬁm#
Ans

X 1. SIS (CarE\iIBlsmg)
X 2 T gEfaeT gvre hardening)

v &) FITW?-I'% Anneallng)

@?ﬁ'{ (Case hardening)

Question ID : 843923854
Status : Answered
Chosen Option: 3




MGl uET R AET ST T 9ORT 1 FE AT B
Ans X.IEH

X2 &g ae

3 FeT Ay

v ais iR =

Question ID : 843923874

Status : Answered &
Chosen Option : 4 43}

Q75 Gy urg sEer #, BT @ T T GHROT SRR 3 QU B & T seardr g §2 (ggé

Ans ?‘ﬁ ﬁ ﬂ ««

< 4 ZaTEEd ‘3\(30

N

<(\ Question ID : 843923880
Status : Answered
C} Chosen Option : 3
. ‘\CE
ection : General Awareness Q
Q.1 31t 32T & FeT SAR IS & S § 31 d g
Ans x 1. gRamon Q?()
o 2. merE “\\(\
/X 3. e QQ
/X 4 ufm s \&\0
Q’C} Question ID : 843923925
N é\' Status : Answered
(} Chosen Option : 2
Q.2 fru Hdufia A = 7T Prares ava, G AT 3R qUA FTE g, el & wdee
# siffent i @l Siter?
Ans x
WAL
of 3 224
X 4443

Question ID : 843923927
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Section : General English ‘\Q

Q.1 Select the word that is opposite in meaning (ANTONYM) tgé{;hvord given below.

Filthy 0
Ans J 1. sterile . QQ?()
x 2. grimy Q\\
O
X 3. nasty QO
#< 4. foul N

Question ID : 843923963
Status : Not Answered
Chosen Option : --

X 2.to blow one's own
J 3. to bell the cat

X 4. bring to light

Question ID : 843923964
Status : Not Answered
Chosen Option : --




Q.3 Fill in the blanks with a suitable adverb. | ____ brush my teeth before | go to bed.
Ans X" 1. Sometime

x 2.tryto
x 3. Once
J 4. Always

Question ID : 843923957
Status : Answered
Chosen Option : 4

Q.4 Choose the correct form of direct speech for the following- Q}w
Gopi said he knows her address. «

Ans x 1. Gopi said," | had known her address." Q?
J 2. Gopi said," | know her address." 4‘

x 3. Gopi said," | have known her address." /{X‘

x 4. Gopi said," | am known her address." ¢ t

N

\4
dudStion ID : 843923960

Status : Not Answered

A\
@Qhosen Option : --
N

N
Q.5 Select the word that is closest in meaning (SYNONYM) to the word given I:@?Rhapsodic

Ans x 1. sorrowful C}
.
x 2. unpleasant N @

J 3. ecstatic (JQ\
x 4. unhappy 0‘&

. (\Q’ Question ID : 843923962
\\ Status : Not Answered
<>Q Chosen Option : --

Q.6 Which of the following words givéQs;éhe options can be changed to rectify the given
erroneous sentence.

There were fingerprints o ife but it was unidentifiable by the police hence sent for
investigation at the for: ab.

Ans x 1. were Q,

Question ID : 843923965
Status : Not Answered
Chosen Option : --




Q.7 Choose the correct form of active voice for the following-

Ans

My father was loaned 5lakhs by SBI.
x 1. 5lakhs to father SBI loaned.

x 2. SBl was loaned 5 lakhs to my father.
J 3. SBI loaned 5lakhs to my father.

x 4. My father took loan 5lakhs from SBI.

Question ID : 843923961
Status : Not Answered

Q.8 Identify the part of speech of the bracketed word. We took the (slow) train.

Ans

x 1. verb

#< 2. adverb
x 3. noun
o 4 adjective
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N
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Status : Not Answered

A
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~ N

Q.9 Fill in the blank with an appropriate preposition.

Ans

The driver jumped ____ the car.

x 1. through
/< 2. of

x 3. from
o 4 off
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Status : Not Answered
Chosen Option : --






